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QID : 801 - In the following question, select the related word pair from the given alternatives.
Heart:Organ::?:?

e vy  fou 7T fawedl & @ Yefid sg g &1 gt

Options:

1) Bus : Vehicle
99 : digd

2) Car : Road
PR : gP

3) Ship : Sea
SESHESIN

4) Train : Rail
AT : gedt

Correct Answer: Bus : Vehicle
oY : dlgd

Candidate Answer: Bus : Vehicle
99 : digd

QID : 802 - In the following question, select the related word from the given alternatives.
Big : Small : : Solid : ?
frafaRad vy # fau 7T fowed! # 9 e sg 1 gHul

qsT: Bler::39:?
Options:
1) Metal

g

2) Liquid

w_d

3) Smoke

gaf

4) Cold

)

Correct Answer: Liquid
R

Candidate Answer: Liquid
R

QID : 803 - In the following question, select the related word from the given alternatives.
Calculator : Calculations : : Scale : ?

Frafared e 7 fa e e & @ 9aftd Tea &1 gHT

%ﬁﬁqﬁa $TUMAT: : Wb 2 ?

Options:
1.) Inches
EE]

2) Centimeters
3) Measure

HIOAT
4) Steel
wa

Correct Answer: Measure
{1

Candidate Answer: Measure
HIOAT

QID : 804 - In the following question, select the related letters from the given alternatives.
MUFT : PXIW : : GONE : ?
frafafed y & fau e fowedt & § Hefta siert 1 gful

MUFT : PXIW : : GONE : ?



Options:
1) HMRL

2) JSPA
3) JRQH

4) HQRF
Correct Answer: JRQH
Candidate Answer: JRQH

QID : 805 - In the following question, select the related letters from the given alternatives.
PINK : TMRO : : SOLD : ?

frafafea gy 7 faw e fowedl § § Hefta siert a1 gful

PINK : TMRO : : SOLD : ?

Options:

1) HQTX

2) WSPH

3) HAQV

4) AQBH
Correct Answer: WSPH
Candidate Answer: WSPH

QID : 806 - In the following question, select the related letters from the given alternatives.
SW:VA::LT:?

Fraffed gy 7 faw e fowedl & § F&fta sl a1 g

SW:VA::LT:?

Options:

1) NY

2) LA

3) OX

4) OL
Correct Answer: OX
Candidate Answer: OX

QID : 807 - In the following question, select the related number pair from the given alternatives.

Options:
1) 16 : 259

2)13:171

3) 14 : 199

4) 14:195

Correct Answer: 13 : 171

Candidate Answer: 13 : 171

QID : 808 - In the following question, select the related number from the given alternatives.
42:105::38:7?

e vy & fou U fawedl & 9 Hefa S & giul

42:105::38:?

Options:

1) 111
2) 135
3)95

4) 83
Correct Answer: 95
Candidate Answer: 95



QID : 809 - In the following question, select the related number from the given alternatives.
24:39::49:?

fFrafafed us 7 fig 0 fawedt & & Jefia den &1 gl

24:39::49:?

Options:
1) 68

2) 64
3) 69

4)79
Correct Answer: 64
Candidate Answer: 64

QID : 810 - In the following question, select the odd word from the given alternatives.

Frafiiea uy T mu fawe 3 § v wse &1 gful
Options:
1) Liver

2) Intestine
3

3) Organ
3

4) Lungs
BHs

Cprrect Answer: Organ
3

Candidate Answer: Organ
3T

QID : 811 - In the following question, select the odd word from the given alternatives.

e vy & fou e fawedt & 9 fawg wre &1 gl
Options:

1) Black

CaKNI

2) Yellow

drar

3) Rainbow

XUV
4) Pink

TSt

Correct Answer: Rainbow
EEURL
Candidate Answer: Rainbow

Uy

QID : 812 - In the following question, select the odd word from the given alternatives.

frafiiad vy & fou e fawedl & 9 faw wreg &1 gl
Options:

1) Arteries

eisp]

2) Veins
T

3) Hand
B
4) Bqnes

Correct Answer: Hand
B

Candidate Answer: Hand
BIY

QID : 813 - In the following question, select the odd letters from the given alternatives.

fofafad uy & fou 7u fawedt & @ faw sieri &) gfwl
Options:

1) RLF

2) MGA

3) EYR

4) HBV

Correct Answer: EYR
Candidate Answer: EYR

QID : 814 - In the following question, select the odd letters from the given alternatives.

fofafad vy 5 Ry e e § 3 v siert &1 gful



Options:

1) IR

2) KP

3)GT

4) OV

Correct Answer: OV
Candidate Answer: GT

QID : 815 - In the following question, select the odd letters from the given alternatives.

frffad vy & fou U fawedt & @ fawy sieri #1 gl
Options:
1) XTQMJ
2) FBYUR
3) GCZVS
4) TPMIE

Correct Answer: TPMIE
Candidate Answer: TPMIE

QID : 816 - In the following question, select the odd number from the given alternatives.

fafarad uy ¥ f3u e fawedl & ¥ fawy s &1 giul
Options:

1)4-21

2)7-54

3)6-41

4)3-16

Correct Answer: 3 - 16

Candidate Answer: 3 - 16

QID : 817 - In the following question, select the odd number pair from the given alternatives.

frofafad vy & fau T fawedt & @ fawy e g & gful
Options:

1)11-17

2)23-31

3)43-59

4)41-47

Correct Answer: 43 — 59

Candidate Answer: 43 — 59

QID : 818 - In the following question, select the odd number pair from the given alternatives.

Frafafed vy 7 faw T e # 9 fave Yo gw &1 gl
Options:

1)12-156

2) 13-182

3) 14-210

4) 15 -230

Correct Answer: 15 - 230

Candidate Answer: 15 — 230

QID : 819 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shocking
2, Shiver

3. Shelter
4. Shorten
5. Shudder

FAfiRad Xeal PI AEHIN | 3 a1 HH & IR ford |

1. Shocking
2, Shiver

3. Shelter
4. Shorten
5. Shudder

Options:
1) 23145
2) 32145
3) 14523

4) 41523
Correct Answer: 32145
Candidate Answer: 32145



QID : 820 - According to dictionary, which of the following word will come at LAST position?
1. Operation

2. Orderly

3. Openly

4. Opulent
5. Oral

UEHI & AR, FEfeiad & ¥ o1 1 U Sifaw =M W amm?

1. Operation
2, Orderly
3. Openly

4. Opulent
5. Oral

Options:
1) Oral

2) Orderly
3) Opulent

4) Operation
Correct Answer: Orderly
Candidate Answer: Orderly

QID : 821 - From the given alternatives, according to dictionary, which word will come at THIRD position?

fau T Ryt & Q, TCHIY F TR, B TT Veq, AR RIF TR AR
Options:
1) Passage

2) Pastime
3) Patience

4) Pathetic
Correct Answer: Pathetic
Candidate Answer: Pathetic

QID : 822 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AGM, FLR, KQW, PVB, ?

TS 3gehd o 7 B, For @ ueh ug g 81 R U et # @ a8 wel e g, St o n & [ |

AGM, FLR, KQW, PVB, ?

Options:

1) UAG

2) VLC

3) CGN

4) PNO
Correct Answer: UAG
Candidate Answer: UAG

QID : 823 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FROM, CNLI, ZJIE, WFFA, ?

TS 3ged o T ], o @ U v gw ¥ R T et B @ 98 9E fiwed g, ot owh & g vl

FROM, CNLI, ZJIE, WFFA, ?

Options:

1) ACNG

2) TCCX

3) TBCW

4) FRIP
Correct Answer: TBCW
Candidate Answer: ACNG

QID : 824 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
TRO, PNK, LJG, ?, DBY
TS gy o e ], o @ U v gw 71 R e iw e @ a8 we) fiwed g, St oreT & |

TRO, PNK, LJG, 2, DBY



Options:
1) FBC

2) FNB

3) FRN

4) HFC

Correct Answer: HFC

Candidate Answer: HFC

QID : 825 - In the following question, select the missing number from the given series.
11, 16, 21, 13, 19, 25, 15, 22, 29, ?, 25

frafaRad wy 7 g 7T fdeedl & 9 g s J1d Sifo |

11, 16, 21, 13, 19, 25, 15, 22, 29, ?, 25
Options:
1) 18

2)17
3)19

4)21
Correct Answer: 17
Candidate Answer: 17

QID : 826 - In the following question, select the missing number from the given series.
2112, 2328, 2671, 3183, ?, 4912
frafiiad vy & fou U fawedl & @ g i 1 Sifo |

2112, 2328, 2671, 3183, ?, 4912
Options:

1) 3826

2) 3742

3) 3912

4) 3992
Correct Answer: 3912
Candidate Answer: 3912

QID : 827 - In the following question, select the missing number from the given series.
21, 22, 34.5, 71, 180, 543, ?
frafaRad vy 7 g 7T fiwedl & 9 g S J1d S|

21, 22, 34.5, 71, 180, 543, ?
Options:
1) 1864

2) 2234
3) 2336

4) 1904
Correct Answer: 1904
Candidate Answer: 1904

QID : 828 - M is 2 years older than P. L is 2 years older than O. O's age is the average of the ages of L and N, P's age is the average of the ages of L and M and L's
age is the average of P and O. Who is the youngest?

M, PR 2T TSTIRIL, O 2 T TSTR1 O B AT L 3R N B 3T BT A B, 3R P B 3R L 3R M BT 31 BT 3 & 3R L B 31 P 3R O P 3G 7 319 B
T BT B &2

Options:

1L

2)M

3)N

4)0

Correct Answer: N

Candidate Answer: N

QID : 829 - X said to Y that your mother's father-in-law's wife is mother-in-law of my father. How are X and Y related?

XY T el b TR A & TR BT el A O B 9 B X SR Y T g § Y Taifda €2



Options:

1) X is sister's husband of Y

X, Y @ 984 & ufd §

2) X is child of Y's father's sister

X, Y & o &} 781 &1 s §

3) Y is father's brother of X

Y, X & fordr & uig &

4) Y is sister's husband of X

Y, X B 981 & ufd &

Correct Answer: X is child of Y's father's sister
X, Y & fOdr Bt 55 o1 T @

Candidate Answer: X is child of Y's father's sister
X, Y Ra S seT s =g

QID : 830 - From the given alternative words select the word which cannot be formed using the letters of the given word.
GEOGRAPHIC
fufafad faswed & § 98 Weg gAY S AT TN Wsg & 31&RT T WA IR gt ST S Hebll:

GEOGRAPHIC
Options:

1) cheap

2) rogue

3) price

4) graph
Correct Answer: rogue
Candidate Answer: rogue

QID : 831 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

gf¢ BANQUET & %18 H ZYLOSCR foraT STl 8 Y NEW &1 Bl Hf & ferar wmem?

Options:
1) MVD

2) MDV
3) LCU

4) OFX
Correct Answer: LCU
Candidate Answer: LCU

QID : 832 - In a certain code language, 9124 means 'run around the block’, 2548 means 'don’t block the path' and 4763 means 'chock a block full'. Find the code for
'the'.

Tt Ff3rd s W o 9124 7 312 B 'run around the block', 2548 BT 312 & 'don't block the path' 3TR 4763 T 312f & 'chock a block full'l 'the' & fTT BT T B3|
Options:

1)1

2)9

3)2

4)4
Correct Answer: 2
Candidate Answer: 2

QID : 833 - In a certain code language, '+' represents '-', '-' represents X', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
90x10+25-5+50="7?
Pt RET Fs W H '+, - B USRIA BT &, ', 'x' B USRI FRAT &, 'x, '+ B UeiRid P17 3R '+, '+ B UeiRid Har 31 FafiEd uy &1 IR 71 B2

90x10+25-5+50="7?
Options:

1) 81

2)84

3) 100

4) 48

Correct Answer: 84
Candidate Answer: 84

QID:834-1f11@7=2,18@0=9and 22 @ 20 = 1, then find the value of 16 @ 10 = ?

q311@7=2,18@0=93R22@20=1, 16 @ 10 = ? ST AF T HY?
Options:

1)6

2) 160

3)26

4)3

Correct Answer: 3



Candidate Answer: 3

QID: 835 - If A * B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C * D % E + F mean?

TRA*BHIASRFA, BHIRTR, A+BHTIIRfFA BB TEIR R IRA% BB ISR FA BB THENC*D % E + F T aif 82
Options:

1) Cis F's husband

C, F &1 ufd

2) Cis F's wife's brother

C, F 3 Uell &1 H1S &

3) Cis father of F

C FoIfuare

4) Cis F's sister's husband

C, F & 561 &1 ufd

Correct Answer: C is F's sister's husband

C, F ! 6 &1 ufdl

Candidate Answer: C is F's sister's husband
CFRTHIua g

QID: 836 -

Options:
1)1

2)9
3)-1

4)-9
Correct Answer: 9
Candidate Answer: 9

QID : 837 - Which of the following terms follows the trend of the given list?
CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
frafofead & & o ug < i O F FH F SR 37

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Options:

1) ABABABACB

2) ABABABCAB

3) ABABACBAB

4) ABABABABC

Correct Answer: ABABACBAB

Candidate Answer: ABABACBAB

QID : 838 - A ship starts from the port and sails 43 miles East, then it turns South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right
and sails 17 miles. Where is it with respect to the port from where it started?

TS ST U T Fe1 URY el § AR gd Bt 3R 43 T Fadr 31 R I8 &faor o1 oik gt € ok 17 Hid 9o 31 R I8 ufam 31 oik geaw 25 Hid Idar 8 $iR
R TIfeft ofR geaw 17 et gorar 71 T UIE & 59 SRTe A I URY o o SO 319 U8 SIeTl fohat gt TR 72
Options:

1) 18 miles West

18 #id ufgm

2) 68 miles East

68 Ha gd

3) 18 miles East

18 Hd gd

4) 68 miles West

68 Hid ufzm

Correct Answer: 18 miles East

18 Hia

Candidate Answer: 18 miles East

18 Hid

QID : 839 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South,
then flies 11 miles East, then turns to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

3 T TP & fU ¥ T6 URH IR €1 W P, 15 Hid Ui BT 3R I5a1 § 3IR R a1 ok e 22 Hid I57 & a8 A HaT ¢ S TG W Q, 7 Wit Sferor Y
3R I3aT 7 3R fhR 11 Hid g Y 3R Isar & a1 fopR 3ot 27 8l e 15 Hid I8 & a8 &S el 81 @ P & ey & @ Q ol 82
Options:

1) 26 miles East

26 Hid gd

2) 26 miles West

26 Hia ufym

3) 4 miles East

4 Hia gd

4) 4 miles West

4 Hiq ufgmg

Correct Answer: 26 miles East

26 T gd



Candidate Answer: 26 miles East
26 Hia

QID : 840 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All officers are mothers
Statement II: Some doctors are mothers

Conclusion I: All doctors are mothers
Conclusion II: Some mothers are officers

uy H 3 Py 3 T § e om &) fse 1 3R 11 el T B 1 e 7T © 6 S Sy I © 1R I8 ;T aet § i uelid g1 g1 smuet Aok s
T 3! Ry e fresf & @ SH-ay3 -3 P 0 F SuF gR1 98! e S Ybdr 8/9%d 8, aie B 8l

P I: Tt 3ifftherd g &
FUT II: TO STy A §

e 1: Tt Staes g ¥
e 11: 35 10 siftrad §
Options:
1) Only conclusion I follows
1%
2) Only conclusion II follows
e
3) Both conclusions I and II follow
ST foreepd 1 3R 11 9ET ©
4) Neither conclusion I nor conclusion II follows

1A ey 1w & & e 1

Correct Answer: Only conclusion II follows

Fad ey 11 T8t

Candidate Answer: Only conclusion II follows

Fad IS 11 981 &

QID : 841 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle
Statement II: All sand is desert
Statement III: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion III: All jungle is sand

Uy H fF Py o T B R ot i fsed 1, 11 1R 111 Tl T B 1 3Mueht AT R 6 i Sy T § T8 98 WG 1 dedt & it wedia €1 8 et g
H1 2 31 fou M st A  HF-Ty/BH-3 Afd TU I HU gRI & FebTar S Godr 3/9%d €, I 18 8l

PYF I: It 7RI ST
PYF IL: 9 Y ToRie §
HYF IIL: BT TS ST 18T 8

e 1: $1% Us Aowd T §
frepd 11 F1E W7 IS TE 8
s 111: @ e 3§

Options:
1) Only conclusion I follows
198
2) Only conclusion II follows
Faa fed 11 9 ®
3) Only conclusions I and II follow
IR IITE T
4) None of the conclusions follow
ST e 1, 11 3R 111 Wt T @
Correct Answer: Only conclusions I and II follow
bae e 1 iR 11 98 &
Candidate Answer: None of the conclusions follow
AT e 1, 11 3R 111 I TS
QID: 842 -



Options:
1)

(]

2)

(]

3)

(]

4)
=
Correct Answer:

]

Candidate Answer: [ NOT ANSWERED ]

QID: 843 -
<]

Options:
1)

(]

2)

]

3)

(]

4)
]

Correct Answer:
]

Candidate Answer:

]

QID: 844 -
=

Options:
1)H

2)B
3)G

4)F
Correct Answer: F
Candidate Answer: F

QID : 845 -
]

Options:
1)

]

2)

(]

3)

(]

4)

Correct Answer:

Candidate Answer:

]



QID : 846 -
B

Options:
1)

(]

2)

(]

3)

]

4)
>]

Correct Answer:
>]

Candidate Answer:

(]

QID: 847 -
=

Options:
1)

]

2)

]

3)

]

4)
>]

Correct Answer:
>]

Candidate Answer:

]

QID : 848 -
]

Options:
1)

]

2)

]

3)

]

4)
x]

Correct Answer:
x]

Candidate Answer:

]

QID: 849 -

]



Options:
1)

2)

3)

4)
Correct Answer:

Candidate Answer:

QID : 850 -

Options:
1) 76,69,01,33

2) 56,88,23,41
3) 89,56,44,02

4) 75,68,44,33
Correct Answer: 75,68,44,33
Candidate Answer: 75,68,44,33

QID : 851 - Depreciation of fixed assets is an example of

it uRerfRl T s JaeRue |
Options:
1) deferred revenue expenditure
RS
2) capital expenditure
GoinTd &
3) capital gain
GoiTd e

4) revenue expenditure
XoRd g
Correct Answer: capital expenditure
g
Candidate Answer: deferred revenue expenditure
R Ioa T

QID : 852 - Which one of the following is not a feature of monopolistic competition?

frofafed & 3 oH-9 e kv tefieRr wef @t T8 32
Options:
1) Large number of buyers and sellers in the market
MR H TRIEER! 3R Se-dra! & sl T
2) Differentiated products constitute the market
[ § IR S
3) Product in the market is homogeneous
TWIR # IdTG
4) Selling costs are used for sale promotion
fasa Tagda & for faest anTat &1 wrRinT o Sirar &

Correc_t Answer: Product in the market is homogeneous
FER # IAE

Candidate Answer: Product in the market is homogeneous
TR H Id1E ST

QID : 853 - What is the maximum loan amount permissible under the MUDRA Yojana?

T[T ST & S SHfRbas SR 0T Ui fhat 82
Options:

1) Rs. 50,000

50,000 TG

2) Rs. 1 lakh

1 TR 9

3) Rs. 5 lakh

5 ANG ¥9d

4) Rs. 10 lakh

10 9T ¥9F

Correct Answer: Rs. 10 lakh
10 TG ITA



Candidate Answer: Rs. 1 lakh
1 ARG 9

QID : 854 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?

fay S gr1 fobw T 3=t & ThTaw Fifenvor & SEER HR ade= # forer Aot § e 32
Options:

1) Upper-lower income country

II-F9 3 aren

2) Lower-middle income country

fg-meqy o aram

3) Middle-middle income country

e Y AL S Tl o

4) Lower-upper income country

5-3= emg aren

Correct Answer: Lower-middle income country
fg-memm o aren A

Candidate Answer: [ NOT ANSWERED ]

QID : 855 - As per census 2011, which state had the lowest sex ratio?

2011 ST FTOAT F SR, e g & fefmurd wa &9 ure
Options:

1) Punjab

EEIE]

2) Haryana

g

3) Uttar Pradesh
IR USH

4) Bihar

[EEIN

Correct Answer: Haryana

Candidate Answer: Haryana

QID : 856 - Pluralist Theory of Sovereignty emphasizes the importance of which of the followings?

T & Sgaarel Rigid o Fafif@a § ey w va far o g2
Options:

1) Association

g

2) Monarch

El

3) State

g

4) Government

WPR

Correct Answer: Association
g

Candidate Answer: Monarch
el

QID : 857 - In which of the following countries the system of judicial review was originated?

Frafafea & 9 5 <2 & e Tefian ol $1 I gaf ur
Options:

1) France

)

2) Germany

S

3) USA

quHy
4) Britain
fre

Correct Answer: USA

Candidate Answer: USA
JuEy

QID : 858 - Under which article of the Indian Constitution is the District Planning Commission constituted?

YR TREH & e srgee & sicria e e afify &1 e diar &2
Options:
1) Article 243 ZD

3G 243 2D

2) Article 244 ZD

TG 244 ZD

3) Article 242 ZD

TG 242 7D

4) Article 243 ZE

39 243 ZE



Correct Answer: Article 243 ZD
TG 243 ZD

Candidate Answer: [ NOT ANSWERED ]

QID : 859 - Which kind of majority is required for constitutional amendment in forming a new state?

T 41 IS4 S T HayTes TNe & fore B sgud aifeu?
Options:

1) Simple

HTYROT

2) Two-third

3) Three-fourth
-

4) Two-third plus ratification by half of all states
S-eTE U ondl s T SrEEdA

Correct Answer: Simple

YR

Candidate Answer: Two-third

QID : 860 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?

YR THR HH-91 ISR T 7 81 gu Hf HRellg Tere Bt Sriardt & 4T A o7 SRIeR @ 32
Options:
1) Vice-President
3 g
2) Attorney General of India
URA HT 3feT-l IR
3) Comptroller and Auditor General
f=1eh Ud HgTeral Tigh
4) Election Commission
GA1q SfRfed
Correct Answer: Attorney General of India
HRA BT STl R
Candidate Answer: Attorney General of India
URA HT Tl FRaA

QID : 861 - The term 'Stupa’ is associated with which of the following event of Gautam Buddha’s life?

WU’ eg M g5 & Siia @) Fafeiad fha ger 3 deifia 82
Options:

1) Death

Rl

2) First Sermon

YA IS

3) Birth

S

4) Renunciation

Tg-dnrl

Correct Answer: Death
!

Candidate Answer: Renunciation
Tg-dnrT

QID : 862 - Who was the last ruler of the Gupta Dynasty?

T 47 T Sif X B UT?
Options:
1) Puru Gupta

QR
2) Vishnu Gupta

T
3) Skanda Gupta
e T
4) Kumar Gupta
PHR T
Correct Answer: Vishnu Gupta

faregy et

Candidate Answer: Kumar Gupta

PHR T

QID : 863 - Where was Guru Govind Singh educated and learnt Persian?
T Mfde Rig 3 Ren Fal g3 ok 321 BRYT Faf W oz



Options:

1) Lahore

2) Amritsar

SR

3) Patna

gt

4) Anandpur Sahib

TR Hifes

Correct Answer: Anandpur Sahib
TR wifed

Candidate Answer: Anandpur Sahib

SR ATes

QID : 864 - Which of the following was the precursor of Indian National Congress?
fFrafafed & o wRdia sk S Bt sprmE e A
Options:
1) Serverlts of Indian Society
3Tt $fEa
2) Indian Association
3) Indian National Union
4) Indian League
iU
Correct Answer: Indian Association

Candidate Answer: [ NOT ANSWERED ]

QID : 865 - During which governor general's time was the annexation of Sindh in British State done?
g o wRa & T & Riy &1 faag fafewr s & v mare
Options:

12 Lord Dalhousie

LIS

22 Lord Chelmsford

TS JrHIe

32 Lord Ellenborough

TS TRl

42 Lord Hastings

s sfe™

Correct Answer: Lord Ellenborough

Candidate Answer: [ NOT ANSWERED ]

QID : 866 - What is the second most abundant element on Earth's crust?
Tt BT T FH W () W IUAH G G TR T T 82
Options:

1) Carbon

GICE

2) Silicon

ffereta

3) Oxygen

ElcticE]

4) Hydrogen

Correct Answer: Silicon

Candidate Answer: Silicon
et

QID : 867 - What is called a shallow stretch of river that may be crossed on feet.?

T T Teh Iyl faIR ST Yadt a1 TSt F UR fohan ST T, 1 Heardl 82
Options:

1) Ford

B

2) Atoll

Riia

3)vReef

Tela

4) Lagoon

Correct Answer: Ford

Candidate Answer: Lagoon

QID : 868 - Which among the following is a cold-dry wind?
Fafifed & 3 o9 9t ¢di ok o a7y 72



Options:
1) Hurricane

2) Tornado

TS

3) Bora

R

4) Cyclone

BIEENIE

Correct Answer: Bora

Candidate Answer: Bora

QID : 869 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?

foemagR sraf@ya Ara fAffa sremr Mfde orR Fafafed # 3 feg e & fRya 72
Options:

1) Uttarakhand

JTRMAUS

2) Uttar Pradesh

IR UG

3) Punjab

EEIc)

4) Himachal Pradesh

Correct Answer: Himachal Pradesh

Candidate Answer: Uttarakhand

QID : 870 - Which among the following rivers does not flow from East to West?
frofafed & @ - 7 gd 3 uftm 3t ok 7 Tt 22

Options:

1) Narmada

2) Tapti

it

3) Cauvery

BT

4) Mahi

Correct Answer: Cauvery

Candidate Answer: Tapti

QID : 871 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon" by the Union Government on November 21, 2017.

21 TR, 2017 & Fgfofaa ¥ {5 Ueie TIRE &) 99 WHR 7 "W YR 3D & &9 & gaf3d fear

Options:
1) Haveli Dharampur

2) Charminar
3) Amaravati

4) Vishwa Bharati
[EERINGI

Correct Answer: Charminar

Candidate Answer: Amaravati

QID : 872 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

BT & H BT TS DU F STIAR HRA P TUH JAG b Al Herex (SUHT) Bt RITTAT Hgl BI Sgh?
Options:

1) Andhra Pradesh

AT TSR

2) Maharashtra

G E‘
3) Rajasthan
RTSTRITT
4) West Bengal
YIH S
Correct Answer: Andhra Pradesh
ST TSR
Candidate Answer: [ NOT ANSWERED ]



QID : 873 - Which of the following is a multilevel global campaign to spread awareness about importance of girl’s education?

Teferal Bt Riem & e & IR B STRewdT har & forg FHufifad 3§ & sgeria afye siftam sie-a1 82
Options:

1) Girl Rising

ot T

2) Most Important Part of Our Life: Girls

BHR Sia &1 Yo 3f6H fee: aferep

3) Save Girls: Educate Girls

et Samd: SiferesT Ui

4) Education of Girls

Srferaran @t fRen

Correct Answer: Girl Rising

Candidate Answer: Sav_e Girls: Educate Girls

QID : 874 - Which country will host the Summer Olympics 2020?

Ao Scfies 2020 B ASTEHT HIF T S H?
Options:

1) Qatar

PR

2) Tokyo

ey

3) Rome
A9

4) Jakarta
STt
Correct Answer: Tokyo

Candidate Answer: Tokyo

QID : 875 - Which of the following sportsperson is not correctly matched with their respective discipline?

fafared & 3 frg faard! o1 9a 396 a3 gafe &t 27
Options:

1) Jitu Rai : Shooting

S ¥/ : P

2) P.V. Sindhu : Badminton

dh.dt. Rig - Ssfiie

3) Sakshi Malik : Boxing

el Afe® : ST

4) Deepa Karmakar : Gymnastic

ST BT

Correct Answer: Sakshi Malik : Boxing
et

Candidate Answer: Sakshi Malik : Boxing
el Afer® : ST

QID : 876 - “A Better India : A Better World” is written by .
"TIR IR AR TR FERIRATE ]I

Options:

1) Arun Jaitley
3BT STt

2) Aamer Hussein

3) N. R. Narayan Murthy
T, 3R, TR0 e

4) C. Raja Mohan

. e

Correct Answer: N. R. Narayan Murthy
T, 3R, TR0 fif

Candidate Answer: N. R. Narayan Murthy
T, 3R, TR0 gfef

QID : 877 - Which among the following has won the Nobel Prize for Chemistry in October 2017?

fofied o & frem SraeR 2017 H TG IRA & oY T9d ISR offar 82
Options:

1) Jacques Dubochet

S

2) Joachim Frank

3) Richard Henderson

4) All options are correct.
T fwew T g
Correct Answer: All options are correct.

Tt fapew 9 81



Candidate Ansyver: All options are correct.

Tt e el B

QID : 878 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 2017?

3T 2017 B, % HIK 3 TANT YRS TG B S WR =1 & fpa- TwbRor oR1 5y 82
Options:
1)21

2) 20
3)23

4) 25
Correct Answer: 23
Candidate Answer: 21

QID : 879 - In May 2017, with which country India has signed an agreement on Maritime Security?

TS 2017 B, YRA A ford <=1 & T T TRaT & THSA W g U 82
Options:

1) Sri Lanka

PIREal

2) Bangladesh

CIRSIEN

3) Mauritius

TN

4) China

Gl

Correct Answer: Mauritius

Candidate Answer: Mauritius

QID : 880 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?

UYRT BT B T TSI G TG BT 30 TSB! B @A & TR GRT ATICT 22
Options:

1) Pakistan

PlEaSIEt

2) Nepal
BEISH

3) Sri Lanka
EIRER

4) Bhutan

Correct Answer: Bhutan

Candidate Answer: Bhutan

HH

QID : 881 - In which communication mode, data can be transmitted in both directions at same time?
9 TOR % YR § el BT GeRor U §ad & G Rgmait # wvg gar 82

Options:

1) Simplex

R

2) Full duplex

3) Half duplex

e S
4) Multiplex
T

Correct Answer: Full duplex

Candidate Answer: Multiplex

QID : 882 - The computer program that converts assembly language to machine language is called

FILR BT Ig YT o SRTaat U &t J=fi=t vy & Suiaid T g, FEard gl
Options:

1) Complier

DGR

2) Interpreter

3) Assembler

ST

4) Comparator

Correct Answer: Assembler



(_:andidate Answer: Interpreter

QID : 883 - Which is a base metal of amalgam alloy?

ST THYTq BT SMYR HTq 1 &1 87
Options:
1) Aluminium

2) Mercury
URT
3) Copper
arar

4) Zinc
ST

Correct Answer: Mercury
ORI

Candidate Answer: Mercury
URT

QID : 884 - Which of the following is the structure of graphite?
Frfeied # & o @ dwge $ TR 82

Options:

1) Rigid three-dimensional
A E

2) Hexagonal

3) like Football
Peard ot

4) No option is corr%ct.
'8l

Correct Answer: Hexagonal

Candidate Answer: Hexagonal

QID : 885 - A wooden spoon is dipped in a cup of ice cream. Its other end will

THS! B U TG BT ATFBH F TS H G T 8| SHBT GIRT RRT [

Options:

1) become cold by the process of conduction

T UfohaT & GRT 381 81 Sgm

2) become cold by the process of convection

g ufshdr & gR1 &1 8 Sgm

3) become cold by the process of radiation
UfchaT §RT &1 81 W@

4) not become cold

CEIEGRI

Correct Answer: not become cold

ESEG)

Candidate Answer: not become cold

RN
QID : 886 - Which acid is the most abundant acid found in grapes?

SR T W YR AT B B T S UrT ol 82

Options:

1) Oxalic acid

R o

2) Ascorbic acid

TIfs o

3) Tartaric acid

TR o

4) Formic acid
3%

Correct Answer: Tartaric acid
3T

Candidate Answer: Tartaric acid
3T

QID : 887 - The splitting of white light into its component colours is called

A YT BT I 3raqat quil # Gy HEA B
Options:

1) diffraction

faad=

2) refraction
3) dispersion

4) scattering
PEALES



Correct Answer: dispersion

Candidate Answer: scattering

QID : 888 - Which of the following statements are CORRECT?

I. Change in magnetic field produces induced current.
II. Flow of current in a conductor produces magnetic field.
III. Magnetic field related to coil can be produced by motion between conductor and coil.

fFraffed # 3 o1 3w w82

1. gt 8 & R 3 IR yRT I gt 31
11 TTde # Yaled 4RT gablg 8 Jdd Heell ¢
111 $USEH § Hafd daata &, TMas auT FUSH & Ted ST Ty & HRUT 8 Foha 71
Options:

1) Only I and II

Fad 1 quT I

2) Only I and III

I 1 T 111

3) Only II and III

Fad I qT 111

4) All statements are correct.

Tt F T

Correct Answer: All statements are correct.

it o TE B

Candidate Answer: Only II and III
Fad I qT 111

QID : 889 - Which gas is used as a fuel in a rocket?

e # S & w0 H B R g o1 I fhar Sirar 32
Options:

1) Radon

ESiE]

2) Hydrogen
3) Chlorine
GNINE

4) Nitrogen

Correct Answer: Hydrogen

Candidate Answer: Hydrogen

QID : 890 - Which of the following is good insulator?
Frafiiea & 3 v sfean pamas s @ 12

Options:

1) Mercury
ORI

2) Cadmium
Feftrm

3) Germanium

4). Glass

DI

qurect Answer: Glass
DI

Candidate Answer: Glass
DI

QID : 891 - Which is the most abundant Vitamin found in carrot?

ToR # Tad TR AE F B4 A1 ferie ura S 82
Options:

1) Vitamin A
ferfie A

2) Vitamin B
fJerff B

3) Vitamin C
fJerfim ¢

4) Vitamin D
fgerf= b
Correct Answer: Vitamin A
fqerftm A

Candidate Answer: Vitamin B
B



QID : 892 - How the rate of absorption of water through roots can be increased?

SISt & HTIEH Y STl b ST P X Y TG o Tebell 82
Options:
1) Keeping the plants in the shade
el 1 BT H THR
2) Keeping the plants in the dim light
[ 1 Tig UhTT H TR

3) Keeping the plants under the fan

o B UG & A IR

4) Covering the plants with a polythene bag

e} Y Uiferel= @ g

Correct Answer: Keeping the plants under the fan

oelf Y T8 & T @I

Candidate Answer: Covering the plants with a polythene bag

et Y aifereh= | g

QID : 893 - A spore producing plant is .

S I B dTell T UIey Sid &l
Options:
1) rose

2) bread mould
i

3) potato

ST

4) ginger

3D

Correct Answer: bread mould
2 BO

Candidate Answer: bread mould

P BES
QID : 894 - Which chromosome is responsible for manliness in man?

oY F qou & U B 1 [UREH Waier IwRem 82
Options:
1) X0

2)Y0
3) XX

4) XY
Correct Answer: XY
Candidate Answer: XX

QID : 895 - The human eye forms the image of an object at its

HE = R Tt o 1 wfafere S &1
Options:
1) cornea

2) iris

3) pupil

E?fztina

Correct Answer: retina

Candidate Answer: retina

QID : 896 - Which of the following is NOT a multicellular organism?
frafafed # 3 o1 o 1o sg-FIRe T e T8 82

Options:

1) Fungi
ECa

2) Spirogyra
IR

3) Hydra
4) Paramecium

Correct Answer: Paramecium

Candidate Answer: [ NOT ANSWERED ]



QID : 897 - Which disease is caused by cadmium metal pollution?

FeThrmm g F Ugwor I HH 1IN BT 22
Options:
1) Minamata

2) Itai-Itai
3) Asthma
SRYHAT

4) Dermatitis

Correct Answer: Itai-Itai

Candidate Answer: Dermatitis

QID : 898 - Which of the following is an organic gas?

fofafed # 3 oF 9@ e S TN 32
Options:
1) Carbon dioxide

FIa SRHTRIES
2) Carbon njonoxide

3) Ethylene dichloride

4) Nitrogen digxide
Ao SRHlasS
Correct Answer: Ethylene dichloride

Candidate Answer: Ethylene dichloride

QID : 899 - Basel Protocol is related to which of the following?

I Tieiia Hufifed § § fred geft &2
Options:
1) Ozone layer

oI ORd
2) Burning of forests
T BT ST
3) Sea water pollution
BREIEREIR L
4) Trans-boundary hazardous dumping
GRAS Uy gerdf & THR RIFATGR0
Correct Answer: Trans-boundary hazardous dumping
TR SURT gardf RIFTRO
Candidate Answer: Ozone layer

wd

QID : 900 - Which of the following is parasitic food chain?
frofafed § & S wRivehdt @ gae 22

Options:

1) Trees — Fruits eating birds — Lice and bugs

J& — B G dd Ut — o AT Bg

2) Grass — Rabbit — Fox — Tiger

Y — WY — AHSl — &9

3) Grass — Grasshopper — Frog — Snake — Hawk

4) Phytoplankton — Zooplankton — Fish — Hawk

UGy Wad — UT0T Wad — HSdl — I

Correct Answer: Trees — Fruits eating birds — Lice and bugs
& — Bl TM aTe Ul — o qUT B

Candidate Answer: Trees — Fruits eating birds — Lice and bugs

J& — B G ddd Ut — o AT Blg

QID : 901 - The S.I unit of electrical energy is

faggd ol 1 19,9, gars gl
Options:

1) Watt

qic

2) Volts

ElSH

3) Ampere

4) Joule
S
Correct Answer: Joule

S
Candidate Answer: [ NOT ANSWERED ]



QID : 902 - Which one of the following is the CORRECT expression for the heat generated in a conductor?
Fofifed & 9 S99 O 9ras § Sad S Sul & e a8t Fes 82

Options:
1)

2)

3)

4)
Correct Answer:

Candidate Answer:

QID : 903 - Which one of the following statement is TRUE?
0 & P T By W 22

Options:

1) The equwalent resistance in series combination is larger than the largest resistance in the combination.

ST TSI BT THEd UIRIY, TS & T8 7S UfeRly I 97 gl 31

2) The equwalent resistance in series combination is smaller than the largest resistance in the combination.

ST TSI T THed UIRTY, TS & T 78 Uiy F Biel gian 3

3) The equwalent resistance in series combination is equal to the smallest resistance in the combination.

ST TSI BT THed UIRIY, TS & T BIS UORTY & TSR 8l g1

4) The equwalent resistance in series combination is equal to the largest resistance in the combination.

ST TS BT TG TR, JIo & Ja9 TS UoR1Y & SRISR 51l 31

Correct Answer: The equwalent resistance in series combination is larger than the largest resistance in the combination.

G YIS BT THed URRIY, T & To9 98 IRy 3§ 981 8 g

Candidate Answer: The equlvalent resistance in series combination is larger than the largest resistance in the combination.

ST TSI BT THed UIRIY, TS & T8 7S UfeklYy I 97 gl 31

QID : 904 - The resistivity of a conductor depends upon

EIREA-ARCIRNEER| R R w2
Options:
1) pressure
GEICH
2) temperature
GIECIGE
3) degree of illumination
kel
4) shape of cross-section
U & BT SHTHR

Correct Answer: temperature
GIEEIG]

Candidate Answer: temperature
GlEEIG]

QID : 905 - Determine the energy (in J) stored by a 0.4 H inductance, if the current flowing through it is 2 A.

T 0.4 3 & Rebed gRT IR Sholl (St H) Fefikd o3, afe S99 2 TR 3 Riggd ¥R 8 W@ 71
Options:

1) 1.6

2)038

3) 0.4

4)1.4

Correct Answer: 0.8
Candidate Answer: 0.8

QID : 906 - What will be the voltage (in V) across a 8 H inductor, when the rate of change of current in the inductor is 0.5 A/sec.

8 3 ¥ IR H dieeol (diee H) a1 81, Afe IRep & fagg YR uRkadH ax 0.5 THWR/AHS 7
Options:
1)2

2)6
3)4

4)8
Correct Answer: 4
Candidate Answer: 4



QID : 907 - What will the equivalent capacitance (in mF) of three capacitors connected in a series having capacitance of 0.04 mF, 0.08 mF and 0.02 mF
respectively?

0.04 -1, 0.08 firef-Bve 3R 0.02 fircf-Bve & ol & e B S diF Terfa 3t gogey i (frelt-thee &) @ e

Options:
1) 0.026
2) 0.032
3) 0.065
4)0.011

Correct Answer: 0.011
Candidate Answer: 0.011

QID : 908 - Determine the voltage (in V) of a battery connected to a parallel plate capacitor (filled with air) when the area of the plate is 10 square centimetres, the
separation between the plates is 5 mm and the charged stored on the plates is 20 pC.

%W%W(arg@rﬁ)ﬁ%ﬁ@%ﬁﬁﬁéﬁ(ﬁ&ﬁ)ﬁﬂfﬁaﬁmﬁzm833[1oaﬁ®.rﬁ.,®ﬁ%aﬁaﬁzmsﬁaﬁlﬂash?@ﬁm@ﬁamﬁfzo
FHaE Bl

Options:

1)12.3

2)10.3
3)11.3

4)14.3
Correct Answer: 11.3
Candidate Answer: 11.3

QID : 909 -

Options:
1)2

2)1
3)4

4)3
Correct Answer: 1
Candidate Answer: 1

QID: 910 -

Options:
1) 80

2) 40
3) 60

4) 30
Correct Answer: 80
Candidate Answer: 80

QID : 911 - Which one of the following statement is TRUE?
g & § @I a1 By wE 825

Options:

1) Kirchhoff’s law is not applicable to circuits with passive elements.

e o1 fron fAfSpa dat o oRoy & g ang 72 g g1

2) Kirchhoff’s law is not applicable to circuits with lumped parameters.

fepeaits &1 fgw uRuy R ous Rfiex & A1y on] T8 81 8|

3) Kirchhoff's law is not applicable to circuits with non-linear resistances.

e o1 frow IR Y ufderen o aRoy & o ang et ST 21

4) Kirchhoff's law is not applicable to circuits with distributed elements.

faits o1 gy faafka dal ara ufkay W @] et giar 8|

Correct Answer: Kirchhoff’s law is not applicable to circuits with distributed elements.
fare o1 fray faafka dal ard ooy W R e g 81

Canclidate Answer: Kirchhoff’s law is not applicable to circuits with distributed elements.

febeaits @1 Figw faaikd dwt el TRUY TR o] 78 81 3|

QID : 912 - Which one of the following is a passive element to an electrical circuit?

frofifed ¥ @ B9 figga oy ¥ fow we fAfesg aa 82



Options:

1) Current source
faggq yrT |
2) Voltage source
Jiees |d

3) Resistor
IS

4) Battery
CLAl

Correct Answer: Resistor

ufRrY

Candidate Answer: Resistor
IS

QID : 913 - Which one of the following is the mathematical expression of Ohm'’s law?

fafared & @ o @ o & g o1 1l e 72
Options:

1)v=I

2)V=R/I

3)Vv=I-R

4)V=1R

Correct Answer: V = IR

Candidate Answer: V = IR

QID : 914 - Determine the current (in A) that flows through a 15 ohms resistance, when the potential difference between the terminals of the resistor is 60 V.

faggq ur (TR #) fruffed & S 15 o Rty & Tream § S5 §, 919 UieRiy & efifal & fT e iR 60 i 71

Options:
1)3

2) 4
3)2

4)6
Correct Answer: 4
Candidate Answer: 4

QID: 915 -

Options:
1)84

2)9.6
3)7.5

4)6.5
Correct Answer: 7.5
Candidate Answer: 7.5

QID : 916 -

Options:
1)3

2)2
3)4

4)6
Correct Answer: 3
Candidate Answer: 3

QID : 917 - Determine the power (in W) dissipated by a 16 ohms resistor, when the potential difference between the ends of the resistor is 32 V.

T 16 39 TRy §RT & fIggq ufed &1 FeRor (are #) 3%, 95 ufakiy & ofdf & g dieet oidR 32 diee 7
Options:
1) 66

2) 68
3) 62

4) 64
Correct Answer: 64
Candidate Answer: 64



QID: 918 -

(]

Options:
1)5

2) 10
3) 15

4) 20
Correct Answer: 10
Candidate Answer: 20

QID: 919 -

]

Options:
1) 0.33

2) 0.85
3)1.21

4)2.54
Correct Answer: 1.21
Candidate Answer: 2.54

QID: 920 -

(]

Options:
1) 0.79

2) 0.43
3) 0.45

4) 0.64
Correct Answer: 0.79
Candidate Answer: [ NOT ANSWERED ]

QID : 921 - Which one of the following is the S.I. unit of magnetic field strength?

FafiEd § A S daoy &7 3 didd 1 T, 31, 3HTS 87
Options:

1) Weber

IR

2) Tesla
o

3) Ampere-meter

4) Ampere/meter

/
Correct Answer: Ampere/meter
TR /

Candidate Answer: Tesla

QID : 922 - Which one of the following is the CORRECT expression for magnetic susceptibility?

frafifed & 3 B9 @ deeiy GaeT=ied & oy Tt wiors 82
Options:
1)

]

2)

]

3)

]

4)

Correct Answer:

Candidate Answer:

]



QID : 923 - Which one of the following is the CORRECT value of magnetic permeability in free space?

Treht wTg & eI TR &1 El ged 0 § | HH 91 82
Options:
1)

EE*mE®m

Correct Answer:

Ix]

Candidate Answer:

QID : 924 - If the magnetic susceptibility of any material is less than zero then the material is

afg freht ot verd 3t Jewta GadeeRiedr Y 9 w9 § @ 95 uerd B
Options:
1) paramagnetic

2) feyromagnetic

3) diamagnetic

4) ferrimagnetic

Correct Answer: diamagnetic

Candidate Answer: ferrimagnetic

QID : 925 - Determine the reluctance (in Amp-turns/Wb) of a coil, when the flux through the coil is 15 Wb and the produced mmf is 30 Amp-turns.

Heeht  yfawny (TmR-e=/aeR #) Fufika o3, 519 Hecll & waed 15 IR ik Ided THEATE 30 TR-e= 21
Options:
1)4

2)2
3)1

4)3
Correct Answer: 2
Candidate Answer: 2

QID : 926 - Determine the value of produced mmf (in Amp-turns) in a colil, if the coil has 120 turns and carrying a current of 0.1 A.

Feeh H 120 Hig IR RAiggd YRT 0.1 TAR B df St H Id1d THUATS &1 I (THR-c= #) fafRa ¥
D

2) 14

3) 16

4) 18
Correct Answer: 12
Candidate Answer: 12

QID: 927 -

Options:
1) 1240

2) 1265
3) 1260

4) 1230
Correct Answer: 1230
Candidate Answer: [ NOT ANSWERED ]



QID : 928 - Determine the magnitude of EMF (in V) induced between the axis of rotation and the rim of the disc, when the disc of radius 10 cm rotates with an
angular velocity of 60 revolutions per second and placed in a magnetic field of 3 T acting parallel to the rotation of the disc.

T & 31l SR e & A & o IRT S.00.0%. & ulemon & (@ B) Ruifd Y, 9@ 10 Ihex B ard {556 60 uleaur ufa Yas @t wioffa 31 & wry g
B 3R 3 2% P FAMIKR Yab1g & B 3G e 31

Options:

1) 6.69

2) 4.64

3) 6.67

4) 5.65

Correct Answer: 5.65

Candidate Answer: [ NOT ANSWERED ]

QID : 929 - What will be the value of current (in A) in a 50 cm long air-core solenoid, if the value of magnetic field at the center of the solenoid is 5 mT and the
solenoid has 300 turns?

W 50 9.0, IS IG-HR Aiaiss § Riggd ¥R &1 Ged (TR §) 391 €1, e Qeriss & $g o gaoig &5 &1 5ed 5 fiell-2%er 2 8k dieFrgs # 300 A €2
Options:
1) 6.63

2)5.63
3) 4.36

4)8.25
Correct Answer: 6.63
Candidate Answer: 6.63

QID : 930 - Determine the maximum flux density (in T) of a material having eddy current coefficient of 2, thickness of 4 mm, volume of 20 cu. meter, which is
supplied by a frequency of 50 Hz when the material has eddy current loss of 6 W.

e & Sifiichan dae T (3% H) Fefid @3, S Tt faggd T o 2, 4 fircfidier 3 e, 20 99 ex @1 3maa B, Rrges) 50 58 Bt oy & amgfd o
STt ® SR ut faggd uRT 1l 6 are B

Options:
1) 2.24

2)3.34
3) 1.94

4)1.21
Correct Answer: 1.94
Candidate Answer: 1.94

QID: 931 -

Options:
1)0

2) 12.74
3) 14.14

4) 18.02
Correct Answer: 14.14
Candidate Answer: 14.14

QID : 932 - What is the peak-to-peak value of a sinusoidal voltage (in V) having average value of 100 V?

T SUIGh 1Y diees T fRRER ¥ RRER 1 A (diee H) 1 ® TS IgeT 314d HH 100 dlee 82
Options:
1) 141.44
2) 159.98
3) 282.88
4)313.97

Correct Answer: 313.97
Candidate Answer: 313.97

QID: 933 -

Options:
1) 30

2) 56.94
3) 75.68

4) 88.42
Correct Answer: 88.42
Candidate Answer: [ NOT ANSWERED ]



QID: 934 -

Options:
1)0

2)1
3)2

4)4
Correct Answer: 2
Candidate Answer: 2

QID : 935 - Calculate the phase angle between the voltage and current phasor of a series RL circuit having resistance of 65 Ohms and inductive reactance of 37.53
Ohms when supplied by a frequency of 60 Hz.

60@;@6@%%@1?[&@3@%@@3&@. RRuy W 65 3 H7 UfeRIY 3R 37.53 30 B RS vfafran 7,  dieet 3R figgq ur1 & 19 & % i 3
RIEI |

Options:

1) 15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: 30

QID : 936 - Calculate the value of resonant frequency (in kHz) of a tank circuit having capacitance of 0.01 mF and inductance of 0.01 mH?

0.01 foreft-thee Y Ui 3iR 0.01 fArel-3 & IR & b Ry & TS SR F Hed B UM (fpail-gee ) B8?
Options:

1) 0.1591

2) 1.591

3) 15.91

4) 159.1

Correct Answer: 15.91
Candidate Answer: 0.1591

QID : 937 - Calculate the induced emf (in V) in the inductor of a series RL circuit having inductance of 1.8 H and resistance of 90 Ohms after 20 milli-seconds, when
supplied by a 20 V DC source.

20 forcfi-Aebe & 1E, 1.8 T & IRbad 3R 90 37H & UfARIY aATd ST SRTW URTY F RSP H IR STATE BT 0T (Fiee H) B ofd URTY BT 20 diee & ST A
GRT MTfefa e e g1

Options:

1) 7.36

2) 10.03

3) 14.76

4)20

Correct Answer: 7.36

Candidate Answer: [ NOT ANSWERED ]

QID : 938 - A delta connected 3-phase circuit has three equal resistances of 36 Ohms in each phase. What is the value of per phase resistance (in Ohms) of the
equivalent star connected circuit?

3-Thel SeeT URTY F Td® el & 36 31H & sRIeR URRIY & | THGed TR TRUY & TS el & TRy BT Jed (3NF H) 71 82
Options:

1) 12

2)36

3) 84

4) 108

Correct Answer: 12

Candidate Answer: 12

QID : 939 - Calculate the power factor of an AC circuit having an impedance of 16 Ohms, if a 4 A current flows through it and its average power consumption is 200
W.

16 37H % TS VfIaTeN Tl Yeaadf o7 a3 =1fad T[ures @ oA 6, afe uRuy 4 TR faggd uRT § ok Su@t shwd faggd @ud 200 are 71

Options:
1) 0.68

2)0.78
3) 0.88

4)0.98
Correct Answer: 0.78
Candidate Answer: 0.78

QID : 940 - Power consumed by a balanced star connected 3-phase load is measured using two-wattmeter method. The phase voltage and phase current in the
load is 220 V and 10 A respectively. What will be difference in reading (in W) of the two wattmeter, if the power factor of the system is 0.8 lagging?

3-%ol A8 A IS U ©R gRT gy wfed @t Wud l-afedieR fafy & At ocht 81 e & e dieest ofR %ol faged YRT HHR: 220 Jiee 3R 10 THRR g1 & diehex
o S (are T 77 SR gV, afe yumreh &1 Wi unies 0.8 AT 32



Options:
1) 2286.3

2) 2861.2
3) 3048.4

4) 3810.5
Correct Answer: 2286.3
Candidate Answer: [ NOT ANSWERED ]

QID : 941 - Which of the following is the dimension of capacitance?

fofared & 9 o1 w1 gl &1 o 52

Options:
1)

2)

3)

4)
Correct Answer:

Candidate Answer:

QID : 942 - A house has 5 fans of 70 W each that operate for 16 hours a day and one washing machine of 2000 W that operates for 1 hour per day in the month of
June. What is the energy consumption (in kWh) of the house in the month of June?

Th WA 70 91¢ & 5 TF & ol &2 T 16 62 8 d § 37k 2000 e BT T AR w2 & S o[ & 7 & 1 692 0l 37 1 a1 B1 9 & 7 A R A Sl
TUd (fpefl-aresiiar #) w1 82

Options:

1) 228

2) 235.6

3) 350

4) 486.6
Correct Answer: 228
Candidate Answer: 228

QID : 943 - A PMMC type voltmeter, having a full scale reading of 250 V and an internal resistance of 400 kilo-ohms, is connect with a series resistance of 100 kilo-
ohms. Calculate the sensitivity of the voltmeter (in Ohms/Volts).

% HuHTAR ey diecHieR, R 250 diee @1 ol Auw AT 3R 400 fre-ofim o1 siaRe wfaRiy 3, R 100 fFe-3iw &t v ufoRly & 91y g o SiaT S
31 dieeHieR I Gag=iadr St TUET (3EH / deed H) IR

Options:

1) 2400

2) 2000
3) 20000

4) 24000
Correct Answer: 2000
Candidate Answer: 2000

QID : 944 - Determine the percentage voltage error of a potential transformer with the system voltage of 11,000 V and having a turn’s ratio of 104, if the measured
secondary voltage is 98 V.

11,000 dee & YUTTEH diecsl & WY U TR CRIHGIR Bt Hfawrd dieest 3fe & Mufika #% SIa 104 &7 A U 811 R fEdia® diees 98 diee 81

Options:
1)7.35

2)5.75
3) 6.25

4)8.84
Correct Answer: 7.35
Candidate Answer: 7.35



QID : 945 - A circuit having power factor of 0.8 consumes 40 W. What will be the value of reactive power (in VAR) of the circuit?

0.8 T fe T[UIeb aTe TRYY 40 dIc Wfad Bl WU el & | TRTY B} vfafrarsiia wfeq &1 g (duer J) Far gvm?

Options:
1) 20

2) 40
3)30

4) 10
Correct Answer: 30
Candidate Answer: 30

QID : 946 - Determine the phase angle (in degrees) of a balanced 3-phase star connected system, if the first and the second wattmeter show readings of 200 W
and 1200 W respectively.

T UM 3-Iel WR Fdes YUt & ot 1oy 1 (Feeht ) Ferffed &Y, afe ugd ok gaR drerfie e &t $fE wm=r: 200 dre @ik 1200 e 7

Options:
1)51

2) 65
3)78

4) 84
Correct Answer: 51
Candidate Answer: 51

QID : 947 - Which one of the following statement is NOT true about PMMC type instruments?

Pogumf UeR F Iuaon & IR & g & ¥ HH 91 HY T6 T8 72
Options:
1) PMMC type instruments have uniformly divided scale.
TR & IUBRUI § JHM TG F AU A1 €
2) These instruments are suitable for both AC and DC currents.
Ig U yAract SR Ry 4R1 I & o Iuge g1
3) Stray magnetic errors are small in these types of instruments.
U YR & IJuFR0T H GUYE gea i Fieal HH g 7
4) The cost of PMMC instruments is high.
U BT AT 3D B

Correct Answer: These instruments are suitable for both AC and DC currents.
g IUHI YTae 3R Ay URT S & o Iuged §1

Candidate Answer: These instruments are suitable for both AC and DC currents.
Ig IUSHR YT SR ¥ 4RT S % o Suged 71

QID : 948 - Which one of the following instrument can measure voltage, resistance, and current?

g & I B 1 IUHR A, TRl SR [Igge URT B 71T Tehell 32

Options:
1) Ammeter

2) Voltmeter
3) Multimeter
AR

4) Wattmeter
JreHtey
Correct Answer: Multimeter

Candidate Answer: Multimeter

QID : 949 - Which one of the following is the CORRECT expression for voltmeter sensitivity of PMMC type instrument?

A TR ST & dlecHier YaeTeiiaar & forw Fafefad & ¥ & a1 geiieso agt 82
Options:
1)

2)

3)

4)

Correct Answer:




Candidate Answer:

QID : 950 -

Options:
1) 70, 60

2) 80, 70
3) 80, 60

4) 60, 80
Correct Answer: 80, 70
Candidate Answer: 80, 70

QID : 951 - For a dc machine shunt resistance and armature resistance values are

dc H=F ¥ fore 2 ufeRly ok emifer ufeRiy & A @1 gid 82
Options:

1) high and high

I 3R 3A

2) high and low

I 3R T

3) low and low

T R

4) low and high

A IR I

Correct Answer: high and low
I 3R A

Candidate Answer: high and low

I IR =

QID : 952 - If the field of a dc shunt motor gets opened while the motor is running, then the

Tiex & Ied IHY dc Rie HieR &1 &8F go aH |-
Options:
1) motor will become slow.

2) motor will attain dangerously high speed
SRR &1 ¥ I T | T R
3) armature current will drop
TR YRT T g1 Swt
4) armature will oscillate about original speed as the mean speed
e 91d & SN aRdfae a1 & aia:
Correct Answer: motor will attain dangerously high speed

Hiex SRRIE &1 8 I3 I | Fe el

Candidate Answer: motor will attain dangerously high speed

Tiex SRRIE &1 @ S Il @ ge rRiht

QID : 953 - Inter pole winding is connected in

3R ya IR forw & <) Gt &2
Options:
1) series with armature
& Y Juft
2) series with main poles
T yai & ary goft &
3) parallel with armature
& WY FHIR
4) parallel with main poles
T Yal & 1Y JHR
Correct Answer: series with armature
SR & Ty 4Rt H
Candidate Answer: parallel with armature
& Y FHIR

QID : 954 - In large machines flat copper strips know as

oS! wEi= & dfe B Tud ugt B o1 Bl Sl 87
Options:

1)'wi'ndings

2) bushes

G

3) risers
4) either of these
P8 TS off

Correct Answer: risers

e



Candidate Answer: bushes

QID : 955 - Lap winding is preferred for

e R AU aRfET &1 aaa < o 32
Options:

1) low current and low voltage

F URT 3R FY

2) high current and high voltage

I URT 3R IA & forg

3) high current and low voltage

I URT 3R HH

4) low current and high voltage

F URT 3R I &

Correct Answer: high current and low voltage
I YRT IR HH

Candidate Answer: low current and high voltage
F URT 3R I Jed &

QID : 956 - Scott connections are used for

WIc AR BT TR [ o8 far r 82
Options:
1) single phase to thrge phase transformation

T&a Bl ¥ T el 7 gRac &

2) three phase to single phase transformation
Beca)

3) three phase to two phase transformation
f P

4) any of the above

ELLCSEEE

Correct Answer: three phase to two phase transformation

T B I & Bl | uRadq F forg

Candidate Answer: three phase to two phase transformation

T B I & Tl | U & g

QID : 957 - The primary and secondary windings of an Auto transformer are

3ffeY g B rufie o fidaes arfEr-
Options:

1) magnetically coupled

qeoTa T I YT gt §

2) electrically coupled

3)\ both magnetically and electrically coupled
| AR L ]
4) None of the;e

Correct Answer: both magnetically and electrically coupled
fagga a1 =u  gfird gt &
Qandidate Answer: ma%netically coupled

eI = J gya gl
QID : 958 - A 40KVA transformer has a core loss of 450 W and total loss of 800 W. Find the copper loss for Maximum efficiency.

40KVA & TIRITER & 450 W &1 1S BT BIdT & 3R 800 W &1 $d 51 BidT | 3ifidad qerdt & o aia &1 51 J1d Piforg|
Options:

1) 350 W

2) 800 W

3) 450 W

4) None of these

EEEGIEE

Correct Answer: 450 W

Candidate Answer: [ NOT ANSWERED ]

QID : 959 - The difference between the stator synchronous speed and rotor speeds is called

VR JeIPITA® 91d IR AR I16 & [ F AR BT 91 Bl STl 82
Options:

1) leading speed

S{UAT 9T

2) lagging speed

YT AT

3) slip speed

for 7re

4) slow speed

g g1

Correct Answer: slip speed

dur ard

Candidate Answer: lagging speed
Tyt AT



QID : 960 - In three induction motor maximum torque is inversely proportional to the

A IRt Hiex & 3ifiiebam seTyUl b SehHIUTd! BidT 87
Options:

1) stator voltage

TR I

2) speed of rotor
GG
3) rotor reactance

4) decreasing slip speed
FIHH JUTT A1
Correct Answer: rotor reactance

Candidate Answer: decreasing slip speed
FIHH JUT A1

QID : 961 - A hysteresis motor

e iR Hex-

Options:

1) is not a self-starting motor.

T gl AreR T2 Bl

2) is a constant speed motor

T fRR 91 arelt AieR Bt 8

3) needs dc excitation

Y dc IS B TTHT BIe &

4) can not be run in reverse speed
o & 7 I o Gad!

Correct Answer: is a constant speed motor

% fRR 97 areht Hiex 3 2

Candidate Answer: can not be run in reverse speed
o & T I o gl

QID : 962 - In a hysteresis motor, the rotor must have

e Mex & ole o
Options:

1) retentivity
i TR ]
2) resistivity

RIS BT SR §
3) susceptibility
B

BRI
4) None of these

Correct Answer: retentivity

Candidate Answer: susceptibility

G BT

QID : 963 - In a split phase motor
f&ee Bt Hiex B-

Options:
1) the starting winding is connected through a centrifugal switch
St RfET Ue el 99 & wiemd A g3
2) the running winding is connected through a centrifugal switch

ST U sudhsl a9 & wead ¥ 9
3) both starting and running windings are connected through a centrifugal switch
Smeaft 3R et ST aTEfET T erudbel faw % AW I gt {
4) centrifugal switch is used to control supply voltage

i SUHS Ao BT XA ToaT STl §

Correct Answer: the starting winding is connected through a centrifugal switch
Smft aRfET uw smudedl faa & wreaw @ 9 gt

Candidate Answer: [ NOT ANSWERED ]

QID : 964 - Starting winding of a single phase motor of a refrigerator is disconnected from the circuit by means of a

ot fibet BT Tbet Thot Hiex 1 SR IS o1 ulkuy J frads ATery F SrerT fbar ST 82

Options:
1) magnetic relay

2) thermal relay
3) c_entrifugal switch
4) None of the_se

Correct Answer: magnetic relay

Candidate Answer: thermal relay



QID : 965 - The motor used on small lathes is usually

BT AY W UG Hiex AYRUT:
Options:
1) universal motor

ok
2) D.C. shunt motor
D.C. %ie Hex gl §
3) single-phase capacitor run motor
THa-e HUTRA 3 HIeR Bt §
4) 3-phase synchronous motor
3_
Correct Answer: single-phase capacitor run motor
Tehal-thol GTRA T Hiek gl &
Candidate Answer: D.C. shunt motor
D.C. %ie Hiex gt §

QID : 966 - If the centrifugal switch does not open at 70 to 80 percent of synchronous speed of motor, it would result in

I 3udhst g Aiex @1 70 ¥ 80 WA Jeawiiers aret W el GadT 8, o 399-

Options:
1) plamage_to the starting winding
Tt aERET Y &ifd & Tt B

2) d_amage to the centrifugal switch

3) ove_rlo_ading of running winding
W IR & FHa §
4) None of the_se

Correct Answer: damage to the starting winding

St aRfET &t &fd 8

Candic!a;e Answer: overloading of running winding
TRFET R IR & Tohar

QID : 967 - Under no load conditions the current in a transmission line is due to

g HROT I TaRor @A # fomT it YR & oy vanfed gt 82
Options:
1) corona effect
Jyrd
2) capacitance of the line

AT Y el (FTE)
3) _back low from earth

4) Spinning reserve
3Tl YAhHUT
Correct Answer: capacitance of the line
NESEIRIRGIIGES)
Candidate Answer: corona effect
Rl

QID : 968 - If a fixed amount of power is to be transmitted over a certain length with fixed power loss, then .

o 2ifed g & wry et Pftra <fars ao fraa e & wifdd i i om [

Options:

1) the weight of the conductor required will be proportional to the voltage

AP D BT HR, g

2) the weight of the conductor required will be inversely proportional to the voltage and that of power factor of the load

IS TP DT HR, dlec 3R YR & WK RSP P g

3) the weight of the conductor required will be inversely proportional to the square of the voltage and that of power factor of the load
3AYH TP DT HR, dlecs P a1 3R HR &b N PRSP &

4) the weight of the conductor will be proportional to the square of the voltage and directly proportional to the power factor of the load
T ITeTeh BT YR, dieesl b I P IR 3R YR F e HRPb P FHGURT S

Correct Answer: the weight of the conductor required will be inversely proportional to the square of the voltage and that of power factor of the load
A TTeTeh PT HR, dlees] P I 3R YR & kT BReb b Geh AU ST

Candidate Answer: [ NOT ANSWERED ]

QID : 969 - Which of the following is a static exciter?
g A 3 PH e Ve I 82

Options:

1) DC separately excited generator
DC UYchd:

2) Amplidyne

[teNISIER]

3) metadyne

4) Rectifier

Ean]

Correct Answer: Rectifier



Candidate Answer: DC separately excited generator
DC UYehd:

QID : 970 - In cables, the thickness of the layer of insulation on the conductor depends upon

Fa ¥, TP W YA B RA B AT 69 R FHR Fe 32
Options:

1) current carrying capacity

YRT dTe P &HAT

2) voltage

e

3) power factor

Riuca

4) reactive power
gt =fa
Correct Answer: voltage

Candidate Answer: current carrying capacity
YRT digh &HAT

QID : 971 - In transmission line generally, the wires used are

TR 1A B YYRO: TG fHT I Tl aR-
Options:
1) ASCR wires
ASCR TR B §
2) copper wires

1§ % AR 81 &
3) iron wires

F AR T
4) aluminium wires
FAIREE

Correct Answer: ASCR wires
ASCR AR 814 §
Candidate Answer: ASCR wires
ASCR TR Ed §

QID : 972 - Which one of the material is used to fix the screw on concrete wall and ceiling?

eplc B AR R B W T Ba & o g F I fb grht 1 gxmre fan S 82
Options:

1) Link clips

INEAESIS]

2) I?ushings

3) Saddles

Iz

4) Rowl plug

REGANH

Correct Answer: Rowl plug
ad @

Candidate Answer: Rowl plug
Aae @

QID : 973 - Which type of insulation covering the conductor used for low voltage?

F Ao 2g AP Bl G & T fbd UHR & SYAYH BT ST {3 STl 82
Options:
1) Poly-vinyl Chloride(P.V.C)
Glef-faTgd RIRES(P.V.C)
2) Paper
PITS
3) vulcanised Indian Rubber(V.I.R)
ISR(V.LR)
4) Cotton and Silk Insulation
Carat SgaRH
Correct Answer: Cotton and Silk Insulation
Bic 3R Riew SgazH
Candidate Answer: Cotton and Silk Insulation
e 3R Rieh 3

QID : 974 - Cheapest system of wiring is

AR &) G G gomeh - 82
Options:

1) casing and capping

HRAT 3R Bt

2) cleat wiring
3) batten wiring
e anfar

4) conduit wiring

DHIC



Correct Answer: cleat wiring
Candidate Answer: [ NOT ANSWERED ]

QID : 975 - which type of wiring having very long life

Y TR BT dR Fe SIS fephTas Bl &
Options:

1) Conduit wiring

Preye IR

2) casing capping wiring
HRAT IR Btk IRt
3) batten wiring

e IR

4) cleat wiring

Correct Answer: Conduit wiring
Frege IRNT

Candidate Answer: casing capping wiring
i Cipicy

QID : 976 - Bucholz relay is operated by

Yl Rl PO eran 82
Options:
1) eddy currents
TR YR
2) gas pressure
Qs
3) electromagnetic induction

4) electrostatic induction

Correct Answer: gas pressure
USR]
Candidate Answer: electromagnetic induction

QID : 977 - The main consideration in designing feeders is

WIS S0 Y G Y 61 e @ Sl 87
Options:
1) current carrying capacity
YRT qlep &HAT
2) voltage drop
s gad
3) resistance
PIRRIE
4) transmission voltage
TR
Correct Answer: current carrying capacity
YRT dTgP &HAT
Candidate Answer: voltage drop
qd—

QID : 978 - Speed of the ceiling fan is about

B UG BT 91 T fba g 22
Options:

1) up to 10 rpm

10 rpm dh

2) up to 200 rpm

200 rpm do

3) up to 450 rpm

450 rpm d&

4) up to 10000rpm

10000 rpm dd

Correct Answer: up to 450 rpm
450 rpm d

Candidate Answer: up to 450 rpm
450 rpm ddh

QID : 979 - The air preheater in thermal power plant is called as

Feitg Wit Gaw & a1g gd d1ues ) 941 el Sl 87



Options:

1) safety device

R&MT UBRUT

2) efficiency increasing equipment

&1 gefs IUHUT

3) Starting device

SR JuHRur

4) Very essential device

T AEYU! IUHRU

Correct Answer: efficiency increasing equipment
G 9EfP IUBUI

Candidate Answer: efficiency increasing equipment
&/ aefs IUHUT

QID : 980 - In synchronous motor damper winding is placed at

JIBITD Hiex B 3aHeH aiST Hgl @l gl 82
Options:
1) stator

2) rotor

3) both stator and rotor
TR IR Eill

4) yoke

q

Correct Answer: rotor

Candidate Answer: stator

QID : 981 - LED lamp have a general life expectancy of
LED & &t Sfia vrera et gt 22

Options:

1) 1000 hrs.

1000 ¥

2) 5000 hrs.

5000 H¢

3) 15000 hrs.

15000 ©¢

4) 50000 Hrs.

50000 ©¢

Correct Answer: 50000 Hrs.
50000 &

Candidate Answer: 50000 Hrs.
50000 ©¢

QID : 982 - Cutting plier use for electrical work must have

faqga & &1 & o wgad Hien @R o o1 g1 ot 87
Options:

1) High strength

3= Udetdl

2_) Insulation

3) Not corrode
R demia

4) sharp

aet ()

Correct Answer: Insulation

Candidate Answer: sharp

()

QID : 983 - The unit of luminous flux is

e T BT HEIB T 32

Options:
1) Steradian
wfeTT

2) Candela
Fan
3) Lumen

4) Lux
IR

Correct Answer: Lumen

Candidate Answer: Lumen

G



QID : 984 - A zero watt lamp consumes

SRR are & o B wfe 3 farat @ud gt 82
Options:

1) No power

fopet ot wifaq &t =t

2) About 5 to 7 W power

AT 5 ¥ 7 W I B

3) About 15 to 20 W power

TAIAT 15 ¥ 20 W I Bt

4) About 25 to 30 W power

TAIAT 25 | 30 W IR Bt

Correct Answer: About 15 to 20 W power
TRTRT 15 ¥ 20 W i &t

Candidate Answer: About 5 to 7 W power
TN 5 9 7 W IR Bt

QID : 985 - A DC generator used for AC welding should have

AC 3T & forT wged DC SFReR & 1 T St 82
Options:
1) Rising characteristics
SHfireram

2) Dropping characteristics
T A&
3) Straight characteristics
B e
4) None of these

R e
Correct Answer: Dropping characteristics
T SHfegmor
Candidate Answer: Dropping characteristics
o e

QID : 986 - The welding electric circuit is

AR Rgga oy da@re
Options:
1) AIwayg earthed

2) Never earthed
Paft oft g
3) Through cables only
Fad & WEH Y
4) None of these

Correct Answer: Always earthed

Candidqte Answer: Always earthed

QID : 987 - Direct resistance heating is used in

fam wfRMy AT @1 swimTa frad e aman &2
Options:
1) Electrogle boiler
MCICIENE
2) Salt-bath furnace
Hlee-amy
3) Resistance welding
EIRREEIRS
4) All option are correct
Tt ;

Correct Answer: All option are correct

it faped wel €

Candidate Answer: All option are correct

i ey T8 §

QID : 988 - The main drawback of resistance welding is

TRy AT o) WY Tt RgfIem | 7?2
Options:

1) High initial as well as maintenance cost.

3RY BT 3R Y & RIRW1T BT Ig AT AT
2) Difficult shapes and sections cannot be welded.
S SHTHRI &% Jus! Bl f o ST T
3) Only similar metals can be welded.

S THIAM UGN P &l Aes a1 S Gobell B
4) None of these

Correct Answer: High initial as well as maintenance cost.
RY BT 3R WY € WA P 9gd STGT AT



Candidate Answer: High initial as well as maintenance cost.
IRY BT SR 1Y &} WIRWTT B Tgd ST AT

QID : 989 - The process of adding, impurities to a semiconductor is known as .

siefarae # argfet e 3t ufthan &) @ we o 82
Options:

1) polling

Igq

2) intrusion

3) pugging
BIpE]

4) doping
Correct Answer: doping

Candidate Answer: doping

QID : 990 - In a p-n junction the potential barrier is due to the charges on either side of the junction. These charges are

p-n e H, SR & Pl TRE & AL B aoig AT 1 8, F 3w §
Options:
1) majority carriers
TEETTS IGF TN §
2) minority carriers
ST AP BT &
3) Both majority as well as minority carriers
SgdETs &%wwé? 3T ST YR % g B
4) fixed donor and acceptor ions
offed < oI 7Tt o B9 §
Correct Answer: fixed donor and acceptor ions
offfea grem SR 7t o B §
Candidate Answer: Both majority as well as minority carriers

TEES IR 1Y € e ST YBR $ a6 e &

QID : 991 - The ripple factor is
fediter Sraex o T 82

Options:
1) rms value/DC value
rms HIH/DC HIH
2) Peak value/DC value
IR #F/DC 7F
3) Peak value / rms value
HIH / rms HIT
4) rms value / Peak value
rms {9/ RRER °9H
Correct Answer: rms value/DC value
rms HH/DC HH9
Candidate Answer: Peak value/DC value
fR1eR A7F/DC 7H

QID : 992 - The output resistance (in kQ) of a common base transistor, circuit is of the order of

IS SR TiReR TRYY &1 33eye UfakiY (kQ H) oy Hife &1 gt 32
Options:

11

2) 50

3) 100

4) None of these

T A P T

Correct Answer: None of these

FREREIER]

Candidate Answer: 1

QID : 993 - For proper operation of a transistor, its collector should have

TifoReR & Ifad HaTa 3, TS SUTEH T 1 g1 ol 67
Options:
1) proper forward bias
Epans)
2) proper reverse bias
Epeni
3) very small size
T BIET HTHR
4) None of these

B T

Correct Answer: proper reverse bias
Ele)

Candidate Answer: proper reverse bias
EIER}



QID : 994 - What- is the characteristics of common collector configuration amplifier with respect to the input and output impedance?

a1 oiR e ufanen & Sey & Iyafits et fom TcieR &1 siftraerr a1 82
Options:

1) Low input and high output impedance

A A ok 3= A ufcanan

2) High input and low output impedance

I 3w 3iR =g e uferanen

3) Low input and low output impedance

I A ok =g e wifeamen

4) High input and high output impedance

=1 a1 3iR 3= Fim wfcaen

Correct Answer: High input and low output impedance
I A iR = PIRCIES

Candidate Answer: Low input and low output impedance

A A ok =g e wfeamen

QID : 995 - The speed of a synchronous motor can be changed by

eI Hiex Bl A1 Sl gael Sff gebell 87
Options:
1) changing the supply voltage
Jiecol SEADR
2) changing frequency
EESERY
3) changing the load
HR dqahr
4) changing supply terminals
>
Correct Answer: changing frequency
SMRT JEad
Candidate Answer: changing supply terminals
| 1 AP

QID : 996 - In a synchronous motor running with fixed excitation, when the load is increased two times, its torque angle becomes approximately

od IS & WY Ie aTell Jeasbiias HieR H YR Bl GR[AT 9614 S TR SeTgul Y01 ST faT 8Y oirdT 82
Options:

1) half

3T

2) twice

3) four times

4) no change
Correct Answer: twice

Candidate Answer: no change

QID : 997 - A three-phase synchronous motor will have

TH-Us JeepTier Hiex -
Options:
1) one slip-ring
T qdf 9o g
2) two slip-rings
qad gl
3) no slip-rings
EGREE)

4) three slip-rings
&= wdff aer gin
Correct Answer: two slip-rings
3 gdf g g
Candidate Answer: no slip-rings

af ger Tt

QID : 998 - The maximum speed variation in a synchronous motor is, .

TP Hiex B =1 § SHiepad e faftrerar giar 82
Options:
1) zero

LA

2) 2. percent
2

3) 4 percent
4

4) 6 percent

6 TR

Correct Answer: zero

RS



Candidate Answer: 2. percent
2

QID : 999 - In a synchronous motor, the damping winding is generally used to

TAPIID Hlex H Sfavce dE T HT SRIHTS WUROE: [ fmar = g2
Options:
1) provide starting torque only
Faa ot gemguf vem
2) prevent hunting and provide the starting torque
T At SR SR sl UeH A &
3) reduce the eddy currents
1R YRTY FH A &
4) reduce noise level
G TR FH HA & oy
Correct Answer: prevent hunting and provide the starting torque
BT A ok 3t T e B & frg
Candidate Answer: prevent hunting and provide the starting torque

S A SR SR ST e A

QID : 1000 - In a synchronous motor which loss varies with load ?

eI Hiex § $H-U1 51 WR F 38R uRafid g 82
Options:

1) Windage loss

g vl g

2) Bearing friction loss

BN

3) Core loss

iRl
4) Copper loss

s

Correct Answer: Copper loss
BICKG]

Candidate Answer: Windage loss

&g avu



